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IRDFNZNDEZ RO K. p=log,2, q=1log,3ETBDEE, RDEE p, q TRE.
a) log,32 = b) log,s5 = a) log,8 = b) log, 18 =
1
1 - = d) 1 16 =
) log; 4 ) Togs ¢) log, 12 = d) log, 1.5 =
e) logs5 = f) log,2 =
g) logs+ = h) logs v2 = RO 4 DR ESL.
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a) log,x =3 b) logy x = _% b)

c) logzx =2 d) log,;x =3 Q)
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log, M =71, log, N =s EBEM =a’, N =a* EEED, COTEEISHEBENBLT
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a) log,(M x N) =log, M + log, N b) log, <F) = log, M —log, N 8]
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b)
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c) log, M" =nlog, M
b)

log i—log 3
27 25

NG

1

> logs 5 —logs = =

logy (3 + V/5) +log; (3 — V/5) =
3logs 15 —logs 135 =
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%loglo 125 + log; % —log;p0.3 =

A B C
log, z + log, C + log, 1 =

log, 3 =m DEE, log, 6, log;2 7% m TKRE.

log, 6 =

log;2 =
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b) log, b -logyc-log.a =1

log, b =
Q) loggb = i

(9] B8y = log, x [LDVWTRDERICHTEED x D% N THRE. 12120, 200 = 1.414 &T 3.

4DDBEH y =3%, y=3"%, y=logzx, y=—logyx DTS I%HEI7.

232 (FIMTDEHD. 1=12L, log,p2 = 0.3010 £T 3.

e, HEBDHSR%E 1 MBERTDTEC, ZORED 1—10 BESEND. COHSRETR
PSR- EDEBRTDE, HENEED % BIFCBHONZH. 172U loge 3 = 04771 ET 3.
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